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NB|FEFEAS [BS 30 300 0 300 10 0 0 0 0 1404 0
RiF 110 1100 0 1100 10 0 0 0 0 1404 0
GhH 140 1400 0 1400
1141|5848 mE 2 10 0 10 5 0 0 0 0 2160 0
=) 1 10 0 10 10 0 0 0 0 1944 0
& 3 20 0 20
1201|H % Rk 62 744 0 744 12 0 0 0 702 0 648
Rk 77 1155 0 1155 15 0 0 0 864 0 810
GhH 139 1899 0 1899
1203 ¥Ry [EH 30 300 0 300 10 0 0 0 0 864 0
50 300 4500 0 4500 15 0 0 0 0 972 0
& 330 4800 0 4800
1205[[F>NAE [EE 354 142 142 0 0.4 130 0 124 0 0 0
fahel 300 60 0 60 0.2 0 0 0 0 86 0
(&) 654 202 142 60
1207| & & GED 1068 203 193 10
1209| B & B 10 30 0 30 3 0 0 0 1620 0 1512
Eh 10 30 0 30
1215|8% Z5 2 8 0 8 4 0 0 0 0 1944 0
Eh 2 8 0 8
1301 |HF ] 20 40 0 40 2 0 0 0 864 0 702
=0 1160 348 0 348 0.3 0 0 0 86 0 81
= E 24 120 0 120 5 0 0 0 0 1404 0
Eh 1204 508 0 508
1311[FF EES 45 180 0 180 4 0 0 0 1512 0 1296
Eh 45 180 0 180
1321 |81 mE 110 550 0 550 5 0 0 0 1728 0 1188
ZiE 40 200 0 200 5 0 0 0 0 1296 0
= E 60 300 0 300 5 0 0 0 1080 0 864
=% 30 150 0 150 5 0 0 0 0 1404 0
(&) 240 1200 0 1200
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1407 | EB T Nl 15 30 0 30 2 0 0 0 864 0 540
(&) 15 30 0 30
1409|&EF Eh 27 81 0 81
1541 [ E& EE 200 2000 0 2000 10 0 0 0 1728 0 1512
Eh 200 2000 0 2000
1603|t)L)—  |B§fE 4 40 0 40 10 0 0 0 0 4860 0
Eh 4 40 0 40
1607|hU257 |[@#E 10 60 0 60 6 0 0 0 0 1188 0
Gh 10 60 0 60
1609[Z7aval)  [&FJ 55 330 0 330 6 0 0 0 3024 0 2160
Gh 55 330 0 330
1611[LBR E% 10 100 0 100 10 0 0 0 1188 0 594
Gh 10 100 0 100
1612| =LA X (&) 7 32 0 32
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1627[2=F=F  [&EJI 630 126 0 126 0.2 0 0 103 0
X 135 405 0 405 3 0 1296 0 972
GhH 889 563 0 563
1705| L= fa] 450 36 0 36 0.08 0 0 108 0
GhH 450 36 0 36
1803 HE S 300 30 0 30 0.1 0 0 125 0
=) 60 12 0 12 0.2 0 0 66 0
& 810 87 0 87
1807 |#B f=554 250 25 0 25 0.1 0 0 49 0
E& 1350 270 0 270 0.2 0 81 0 68
GhH 1600 295 0 295
1809[L&HL EF 900 90 0 90 0.1 0 0 38 0
GhH 900 90 0 90
* S EEET * 17994 28947 476 28471
2811 | & fa 20 5 0 5 0.25 0 0 367 0
[E)) 20 5 0 5
* EEET * 40 10 0 10




